Berechnung Gabel:

Last: 1000 N

A=0,45m> ¥0,45m> = 0,2025m’

Flachenlast: LONZ =4938, SEZ
0,2025m m
N N
Streckenlast:  4938,3—*0,45m =2222,2—
m m
N
Punktlast: 2222,2—*0,45m =1000N
m

0.45m

0.45m



Berechnung der Lagerkraefte:
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ZM:O:FA*h:F*E
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Frl 5oon+04m

Fo=—2= 2 -351,6N
h 0.32m

F, =F,=351,6N
F,, =F =500N

F, =\[F, > +F,,> =351,6N*> +500N> = 611,2N




Berechnung der Stabkrafte:
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0.32m

0.45m

S,. =S, *cos(ax)
S,, =S, *sin(@)
h 0,32m
1 0,45m

tan(x) = —>a=354

ZFX =0:, =5, *cos(r)
D F, =0:F =S, *sin(c)

S, = _F = ,SOONQ =863,IN
sin(x) sin(35,4%)
S, =8, *cos(a) =863,1N *cos(35,4°) =703,6 N




